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A ‘We are not in time for the concert, aren’t we?’

ES & *x »
*BElc W TT =[EIc §LWEH A =be not in tome for ~
* [nai-form] T3 = [masu-form] A
Example: WHOVRW TT = WEFHA

[AFS D ES & W
BSI3I< YUYV —ICENFHEICES DHLNBWVWHS FT—TITI 5, |
B ‘If we get into a taxi (take a taxi) right now, we may be in time for it, so let’s go by taxi.’

[AY

*1TZ 5 =let’s go, | shall go = volitional-form of TTZ &£ 9 g1 (go)

1
97:/_‘(: =

52— + |C <existence particle> = in the taxi /
52— + |C <arrival particle> /
& U 2 — + [T <recipient particle> = to the taxi /

2
97:/__(‘\=

%5 2 > — + T <particle which shows the place where the action takes place.> = in the taxi /0
5 2 > — + T <means particle> = by taxi /

3

F':ﬁ i< %\5 N LNy h5S = because (X) may not be in time for ~

* Fzﬁ I %5 = <plain-style-nonpast-affirmative> of F':ﬁ I %L\i@“ = be in time for ~

*hH LNk = <plain-style> of ‘[plain-style (but, ‘da’ of {na-adjective / noun] da’ must be
omitted.)] ™6 UL XA =may do ~, maybe do ~

* M5 =because ~

4

D

D
ZTENIL = if (X) board = conditional-form of D %9 g1 (board, ride, mount, get on)
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Yamada ‘Why don’t we go for a meal (or do the thing like that) from now?’

L&<U
* BETH = a meal or something

fo & WwWE 1

Hf (THhESA. BESE S BAL £T3 BA T, |
Tanaka ‘I am sorry. | have just finished eating.p, (I really want to say so)’

1

%A = what

& A = part of [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] L T9 = ......
wonder ; ...... , I doubt ; .....,  want to draw your attention ; ....., | want to emphasize ; ....., | really
want to say so ; because ...... — A can be changed to ®.

2

& Z 5 =place

[dictionary-form] & Z % T = be just about to do ~
[te-form] L % & Z % TJ =be in the midst of doing ~
[ta-form] & Z % T = have juts done ~, have been doing ~

3
Ic Ic
BNz = <plain-style-past-affirmative = ta-form> of B XE 9 g2 (eat)

N

-

&S
% = now, just now
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A THHEIE REA BERIEC 25 Ao, ZARH TR WFERA Lo

A ‘We are going to meet an important guest tomorrow, so you must not wear the shoes like
those.’

» »
* =5 = <plain-style-nonpast-affirmative> of £UL\£ 9 g1 = meet

* [te-form] (& L\ F EE A = must not do ~, must not be ~

* te-form of i-adjective = [stem of i-adjective] < T

* te-form of na-adjective and noun = [stem of na-adjective / noun] T
B "o D E Ui, BHE FLL HE BT RET, |

B ‘l understood. | will wear new shoes and come here tomorrow.
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=S
* B E X9 g1 = wear (trousers, shoes, socks, etc) < bottoms

1
<D
¥t = shoes

2
|& = topic particle

|& = part of ‘[na-adjective / noun] Tl& &% D F & A (is not, are not, am not)’ or ‘[te-form] (& LN F
XA (must not do ~, must not be ~)’

3
% 73 = like that, such, that sort of

4
C = particle which shows the place where the action takes place

C = particle which shows means (by means of ~, by [transport], in [language], with [tool] )

C = because of ~

T = |& = part of [na-adjective / noun] Tl& % D £ A (is not, are not, am not)’ or ‘[te-form] (&
WIF X A (must not do ~, must not be ~)’ < te-form of na-adjective and noun = [stem of na-
adjective / noun] T

119
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The wind is blowing strongly today and what’s more it looks cold outside, so | don’t want to go
out.

S S
* HMF 72 < 72U = don’t want to go out = <plain-style-nonpast-negative> of H/HMF 7zW T
(want to go out)

1
U. =[plain-style] L. =~ and what’s more, not only ~ but also ..., because ~ <It is often

used to list reasons.>

2
12 Hh 5 = past of [na-adjective / noun] 7= H 5’ which is the plain-style of [na-adjective / noun]

TY H 5’ =because ~

M @

20
%D =pastof B> TY/F>5/C/%F>TUF /> =itlooks / looked cold
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[masu-form / stem of i-adjective / stem of na-adjective] > T9J =it looks like that < Z > is a
na-adjective.

(120
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i NUM& A, BRO K2 < 2%, B BLELE,. |
Tanaka ‘Mr Yamada, have you told your parents that you go to the university in Tokyo yet?’

Ly
#7< Z & =to go, going
Ly (%
* 17 < = <plain-style-nonpast-affirmative> of 7T &9 g1 =go
* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun).

D&ESLA BATEW NAE &

IJ.IEEI "WWWZ, TH, LU WHRIC R=NTH %E\T @5@"9*% 26HDTY, |
Yamada ‘No. But even if | am objected by my parents, | intend to study in Tokyo.’

1

[FATzLy
Xt = opposition, resistance, antagonism, hostility, contrast, objection, dissension, reverse,

opposite, vice versa
[FATzLy

kXt L F¥ 9 g3 = object, oppose, resist

2
9 % = <plain-style-nonpast-affirmative = dictionary-form>of L &9 g3 = do

w

ESEELDS NAEELS

IRT #4158 =the study in Tokyo < T <particle which shows the place where the action takes

el

place.>

NLE LS

fhs® U F 9 g3 = study

4
2N TH =evenif (X) is done ~ (by someone) , even if (X) have ~ done (by someone)

[te-form] = even if ~
SN T =te-form of 11X 9 (be done by someone) which is the passive-verb of U &9 g3 (do)

*$ U =if < Itis used to emphasize [ta-form] 5’ or [te-form] &’

DESLA

MIFRIC = (give ~) to parents, (receive ~) from parents, (be done ~) by parents, (make)
parents (do ~)

* [dictionary-form / nai-form] 2% D T9 =intend to do ~, don’t intend to do ~
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